900 square centimeters of material is to be used to make an open-topped box which has a
square base. What should be the dimensions of the box in order that its volume will be as

ible?
large as possible? Binghamton University: 2010 Final
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Let f(x) =2 — 2z — 2°.

(a) What is the domain of f7

(b) Where does its graph cross the y-axis? (Don't try to calculate where it crosses the
r-axis.)

¢) On what intervals is f increasing? (if none say so).

d) On what intervals is f decreasing? (if none say so).

(e) Find the local minima of f (if any).

(f) Find the local maxima of f (if any). Binghamton University: 2009 Final
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